B g i | \J_—'rl { g Multiplier les nombres décimaux par des puissances
— ' négatives de dix

Nom: Date: Note:
4603, 1 x0.01 = 1384, 4 x 0.0001 =
6320, 6 x 0.0001 = 7871,6 x 0.001 =
2378,3 x0.1 = 9785,7x0.1 =
1539,3 x 0.1 = 2572,6 x 0.1 =
7980,5 % 0.1 = 2043,6 x 0.0001 =
9663,9 x 0.01 = 3608, 3 x 0.01 =
2294,5x0.01 = 1581 x 0.0001 =
4853,9 x 0.1 = 1835,2 x0.01 =
5283,8 x 0.0001 = 7935,4 % 0.001 =
4799, 6 x 0.0001 = 1748,1 x 0.01 =
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2 PES A

Multiplier les nombres décimaux par des puissances

négatives de dix

4603, 1 x 0.01 =46.031

6320, 6 x 0.0001 = 0.63206

2378,3 % 0.1 =237.83

1539,3 x 0.1 = 153.93

7980,5 x 0.1 = 798.05

9663, 9 x 0.01 = 96.639

2294,5 x0.01 = 22.945

4853,9 x 0.1 = 485.39

5283, 8 x 0.0001 = 0.52838

4799, 6 x 0.0001 = 0.47996

Date:

1384,4 x 0.0001 = 0.13844

7871,6 x 0.001 = 7.8716

9785,7 % 0.1 =978.57

2572,6 x 0.1 =257.26

2043, 6 % 0.0001 = 0.20436

3608, 3 x 0.01 = 36.083

1581 x 0.0001 = 0.1581

1835,2 % 0.01 = 18.352

7935,4 x0.001 = 7.9354

1748,1 x 0.01 = 17.481
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